
LED Made in China / Hecho en China / Fabriqué en Chine

Installation Guide
V2.0

Page 1-5

LED Post Top Light

The Finished Fixture Inside the Box

Fixture housing
Vivienda del accesorio
Logement du luminaire

Rods
Varillas
Tiges

Pole adaptor
Adaptadora de poste
Adaptateur de pôle

(4)M4*12
Cross round head mechanical tooth screw

Cruz de cabeza redonda tornillo de diente mecánico
Tête ronde croisée vis à dent mécanique

(4)M8*16
Allen screw

Tornillo allen
Vis Allen

(6)M8*20
Hexagon socket set screw

Tornillo de cabeza hexagonal
Vis de réglage à six pans creux



Installation Guide
V2.0

Page 2-5

LED Post Top Light

Pole Mounting

1

2

3

Pass the wire through the rod
Pase el cable a través de la varilla

Passer le fil à travers la tige

Fix the rod on housing with (2) M4*12
Cross round head mechanical tooth screws

Fije la varilla en la carcasa con (2) M4 * 12
Tornillos de dientes mecánicos de cabeza redonda cruzada

Passer le fil à travers la tige

Fix the other two rods on housing with (2) 
M8*16 allen screws

Fije las otras dos varillas en la carcasa con (2) 
tornillos Allen M8 * 16

Fixez les deux autres tiges sur le boîtier avec (2) vis 
Allen M8 * 16

(2)M4*12
Cross round head
mechanical tooth screw

(2)M4*12
Cruz de cabeza redonda
tornillo de diente mecánico
(2)M4*12
Tête ronde croisée
vis à dent mécanique

(2)M8*16 Allen screw /Tornillo allen / Vis Allen



Installation Guide
V2.0

Page 3-5

LED Post Top Light

4

5

(2)M8*16 Allen screw /Tornillo allen / Vis Allen

Fix three rods onto pole adaptor with (2) M8*16 Hexagon 
socket set screws and (2) M4*12 Cross round head 
mechanical tooth screws.
Fije tres varillas en el adaptador de poste con (2) tornillos de 
cabeza hueca hexagonal M8 * 16 y (2) tornillos de dientes 
mecánicos de cabeza redonda cruzada M4 * 12.
Fixez trois tiges sur l'adaptateur de poteau avec (2) vis de réglage 
à six pans creux M8*16 et (2) vis à denture mécanique à tête ronde 
M4*12.

(2)M4*12
Cross round head
mechanical tooth screw
Cruz de cabeza redonda
tornillo de diente mecánico
Tête ronde croisée
vis à dent mécanique

Pass the wire through the rod and pole adaptor
(please choose the correct hole).
Pase el cable a través de la varilla y el adaptador de poste
(elija el orificio correcto).
Passer le fil à travers la tige et l'adaptateur de pôle
(veuillez choisir le bon trou).

6

The maximum inside diameter 

of the fixture base is φ 3inch

Connect the wires as left wiring diagram
Conecte los cables como el diagrama de cableado de la 
izquierda.
Connectez les fils comme schéma de câblage de gauche

Pink



Installation Guide
V2.0

Page 4-5

LED Post Top Light

7

8

9-1

Fix the fixture to the post with (6)M8*20 Hexagon so cket 
set screws

Fije el accesorio al poste con (6) tornillos de cabeza 
hexagonal M8 * 20

Fixez le luminaire au poteau avec (6) vis à six pans creux 
M8 * 20

Choose photocell function by ON/OFF switch. ON means enable photocell OFF
means disable photocell.
Elija la función de fotocélula con el interruptor de ENCENDIDO / APAGADO. Los medios
activan la fotocélula. OFF significa desactivar la fotocélula.
Choisissez la fonction photocellule par interrupteur ON/OFF.Activez la photocellule.
Désactiver la cellule photoélectrique.

Adjust the wattage and the CCT with switch according to your requirement
Ajuste la potencia y el CCT con el botón de acuerdo con sus requisitos
Ajustez la puissance et le CCT avec le bouton selon vos besoins

(6)M8*20
Hexagon socket set screw
Tornillo de cabeza hexagonal
Vis de réglage à six pans creux

Built-in Photocell

ON

OFF

CCT
PIN

3K
4K
5K

20W
28W
34W

Adjustable CCT
Adjustable wattage

CCT
PIN

3K
4K
5K

60W
80W
100W

Adjustable CCT
Adjustable wattage

34SW

100SW



Open the driver box, install the photocell and NEMA base according 
to the hole position. Connect the wires as below wiring diagram,
then fix the driver box.
Abra la Caja de energía, instale el controlador óptico y la base 
NEMA de acuerdo a la posición del agujero, cableado de acuerdo 
con el diagrama de cableado de abajo, y luego asegure la Caja de 
energía.
Ouvrez la boîte d'alimentation, installez la commande optique et la 
base NEMA en fonction de l'emplacement du trou, suivez le schéma 
de câblage ci - dessous et fixez la boîte d'alimentation. 

Black

White
Yellow/Green

L
N
G Yellow/Green

B
la

ck

W
hi

te W
hi

te
B

la
ck

Sensor

Sensor head
White

P
in

k

P
ur

pl
e

Red

LED light
source

Black

LED driver
LED+
LED-

A
C 
N 

A
C 
L 

DIM+ DIM-
+

-

+ -L N N L
Co

nn
ec

tio
n t

erm
ina

l

9-2

10

Make sure the installation is complete and turn on the 
power

Asegúrese de que la instalación esté completa y encienda 
la alimentación

Assurez-vous que l'installation est terminée et mettez sous 
tension

Installation Guide
V2.0

Page 5-5

LED Post Top Light

External Photocell (Sold Separately)


